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PART - A

Directions : Given below are sentences that use discourse markers/expressions to make
them complete. Identify the most appropriate discourse marker/expression and mark your

answer accordingly in the Answer Sheet :

1. your transfer requﬁt is
concerned, we'll be discussing it at the
next meeting.

J(2) Asfaras
"(b) To begin with
(c) By the way
(d) Talking about
2. ,didyouknowRavihasa
new job ?
(a) For one thing
.(b) By the way
(¢) In the first place
(d) As a result
3. the wind, it was getting
stronger, and I was getting colder.
(a) To begin with
(b) By the way
(c) First of all
»(d) Speaking of

4. what are you doing in my
room ?

(2) On the other hand
«(b) Excuse me

(c) Look there

(d) Eventually

AEBC-A-GAT - C

5. an unhappy childhood

—————

leads to criminal behaviour.
(a) still if
(b) Even somewhat
<(c) In some cases
(d) In progression
6. , the problem is -nothing

but a wrong assumption about
processes.

(2) In the meanwhile
(b) Somewhat
(c) Engagingly

« (d) In other words

7. Many, , hesitate to publicly
broach such question for fear of
nurturing discrimination.

(a) understandably
(b) despite
(c) until
o(d) of course
8. , one notes that in the
nineteenth century an important

development of reflection and
questioning gained momentum.

(a) Particularly speaking
(b) Generally speaking
(c) Otherwise
(d) Of course

9. , the situation has
completely transformed over the past
few years,

A(a2) Somewhat
(b) Believably
(c) Thus

(d) Predominantly
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T the committee is of the
opinion that all academic matters will
be discussed in the Executive Body
Meeting.

(a) Hence
(b) But

(c) Later
(d) Although

Directions : Given below are words, followed by their appropriate meaning. Identify the
correct meaning and mark your answer accordingly in the Answer Shest.

11. Cynosure :

(a) Person or thing that causes a
change

(b) Person or thing that attracts a lot
of attention

(c) Person or thing regarded as exact
copy

(d) Person or animal that lives in a
particular place
12. Coeval :
(a) Person of roughly the same age

(b) Person or organisation that
cooperates with others

(c) Person employed to drive a pnvate
car

(d) Person employed in taking census

13. Retrogression :

‘(a) Sudden sharp drop in price

b
]

(b) Reverse pressure
(c) Retumn to earlier state

(d) Sudden occurrence of a past event

14. Imprest :
(a) Surpnise attack by people

(b) Money used to manage small
expenses

(¢) Sudden occurrence of laughter

(d) Sudden increase in activity
15. Turgid :

(@) Determined or loyal

(b) Dirty or untidy

(c) Swollen or distended

(d) Excited or upset

C — AEBC-A-GAT
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16. Which one of the following is NOT the

i ions that follow
Directions : following passage carefully and answer the questions
b;:le:;x:g ;:acdo:l:ct Zption from the given options, based solely on the passage. Mark
your answer on the Answer Sheet accordingly.

An attempt to determine the number of languages in the world is affected by other factors.
A few new languages do continue to be discovered, even these days, as unexplored
regions of the world begin to be opened up. The discovery does not usually take place

19. ‘The people may be known, but the

(d) Because the people are not from
different ethnic groups and their
language is recognised

identity of their language may not be,”
means

(z:) People are recognised as different
ethnic groups but not necessarily
their language

20. Which one of the following words
from passage means ‘come to be

s > known” ?

straight away. Often there are similarities with an 'alr_eady kx.lown language which make (b) People are recognised as different .

the investigators assume that what they have found is just a dialect of that language. Only ethnic groups and their language is (a) transpire
after a considerable period of contact does it transpire that the speech is so different that recognised ®) lngss fmcs
it has to be considered a different language. It takes a language survey to establish the

facts, and there are still many countries where such surveys are incomplete or have not (c) People are mot recognised as (c) straight

even begun. The people may be known, but the identity of their language mw"be. dxfi_'erem ethnic groups, and so are .

Because many such peoples are bilingual or multilingual, and converse with outsiders in their languages (d) vanant

lingua franca, it may take a while before linguists come to realize that there is an ethnic
language there at all. @

(¢) By comparing with the lingua

reason for the difficulty in estimating franca of the region

the number of languages of the world ?

(a) New languages continue to be «(d) By conducting a survey of -all

Directions : Each of the following items in this section consists of a sentence, the parts
of which have been jumbled. These parts have been labelled as P, Q, R and S. The parts
are rearranged in four sequences, namely (a), (b), (c) and (d). You are required to select

the most appropriate option that sequences the parts correctly and mark your respense on
the Answer Sheet accordingly.

. participate in the function many of the people who had come to
discovered languages of the region 21. P Q
. / the auditorium was over-crowded could not find a seat because
Th
(®) There are still unexplored regions 18. Which one of the following statements R S
(c) New languages are considered a s portect? (@) PRQS -
dialect of a known language ) (b) PQRS
(a) Language surveys have been ey
«(d) People who speak the language conducted by all nations »(c) QPSR
do not claim their language (d SPRQ
(b) There is hardly any language to be 3 eting I :
17. Which one of the following is a way discovered in the world 27, Ay auitin e exeing e she kmew th‘a)t e answer
to establish the discovery of a new ' 3
language ? : A e 1 i somewhere in the back of her mind  to her questions about life
. Ec) e languages are either R S
(a) By establishing contact over a complete. languages or dialects of
period of time with the speakers of other major languages (@ RPQS
the language (b) QSPR
. S (d) No new language needs to be (©) QPSR
(b) By finding _the similarities of the discovered since all languages are (d) RQSP
language with other languages known to the world "
AEBC-A-GAT - C 4 $ C — AEBC-A-GAT
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23, Works of lterature _ inside the pages of all good
P Q
lies the truth about some of the more challenging questions posed by humanity
R S

(@ PRQS

« () QPRS
(c) QPSR
(d) RPSQ

24, takes on account of its economic successes  to address continuing social inequality
P Q
for every stride of progress any nation it takes two back if it is unable
R S

(@) PRQS
<(®) QPRS
s(c) RPSQ
(d RPQS

5. the book-value of aloanor an intangible asset over a set period of time

P Q

used to periodically lower ~amortisation is an accounting technique
R S

¢(a) SRPQ

(b) RSPQ

(c) SRQP

(d RPSQ

Directions : The following items have a blank space followed by four options. Select the
most appropriate option to fill in the blank and mark your response on the Answer Sheet

accordingly.
26. There is more than to get 27. The class decided to organise
the job done. i
»(2) one way (a) picnic
(b) one ways + (b) - a picnic
(c) any ways (c) picnics
(d) any way (d) the picnic
AEBC-A-GAT - C 6

28. The accused before the
judge.

(a) tried
(b) was trial
(c) sat trial
(d) stood trial
29. The manner in which the demolitions

have been carried out
scrutiny by the High Court.

. (a) was under
(b) under

GET IT ON
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(c) is under
(d) however under

30. 1 consider the opinions of

all stakeholders before taking a fina]
decision.

(a) will not
() have
(c) will
(d) shall

Directions : In the following items a sentence or a phrase is given with a word that is
underlined, followed by four options. Select the most appropriate option that is nearest in
meaning to the underlined word and mark your response on the Answer Sheet accordingly.

31. The Constitution of India ensures ~(c) unlikely
proportionate representation from all =
" regions, (d) inevitable
o(a) balanced
ial 34. The brave soldiers left an indelible
(b) parti impression on the people of the land.
(c) unlikely
(d) suffragette ‘@ ¥ -
(®) fleeting
32. There is a feeling of disenchantment
among the members of the group. (¢) hilarious
(@) delight (d) eradicable
(b) disappointment
(c) idealism 3s. '_I'he manager always provides
(d) unrelenting Instantaneous replies to all queries.

X «(a) immediat
33. She believed that it was imminent that ( ate

he would be chosen as the leader of ®) delayed
the group.

ETO . (c) deliberate
(a) timely
(b) distant (d) unwanted

7 C - AEBC-A-GAT
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Directions : In this section cach item consists of six sentences that comprise a pass

The ﬁ;';dmsmm are given in the beginning as S1 and S6. The sequence of
the middle four sentences has been jumbled up and labelled as P, Q, R and S. You are
required to find the proper sequence of the four sentences and mark your response

accordingly on the answer sheet.

36. S1: Although all sources of encrgy

ultimately come from natural
processes, non-renewable resources
cannot be replaced naturally at the
rate they are being used.

S6: The sustainable use of natural
resources in a manner that provides
the maximum benefit of these
resources to humans over a period
of time can be termed as con-
servation.

P : This will increase the time and
cost of mining and once these
resources are used up they cannot
be replaced.

@ : Hence, we must remember that
though our country is rich in
mineral deposits these resources
are short-lived,

R : Extraction of these ores through
the process of mining will soon
become  difficult and  very
expensive because these minerals
have to be mined from greater
depths over time.

S : Mineral resources can be said to be
finite and non-renewable,

(a) QPRS
() SPQR
«(c) SQRP
(d SQPR

AEBC-A-GAT - C

37. S1: India, at present, has onc of the

largest road networks in the world.

S6: It passes through Howrah, Delhi
and Amritsar and terminates in
Kabul (Afghanistan).

P : The importance of roads has been
recognised in India since the
ancient times,

Q@ : The Grand Trunk Road was built
by Sher Shah Suri across the Indo-
Gangetic plain, from Chittagong
(Bangladesh) to Peshawar (Pakistan).

R : Kings such as Ashoka and
Chandragupta built roads for easy
transportation of goods and people.

S : Construction of roads continued as
an important activity in the late
medieval period.

(8 QPRS

() SPQR

"(c) PQRS

() PRSQ

- S—

38. S1:

S6:

(a)
Ab)
©
(d)

39. S1:

S6:

National highways connect one
state with another and are of
national importance.

These road systems are also known
as primary road systems and are
laid and operated under the
supervision of the National
Highway Authority of India.

: They are important because

whereas they constitute merely two
per cent of the total road networks,
they nevertheless carry 40 per cent
of the total road traffic.

: The road infrastructure of the

country is therefore crucial, and
their construction and maintenance
is of critical importance.

: They bear the load of traffic

because these roads connect long
distances and pass through major
cities and towns.

: Since they cover the length and

breadth of the nation and connect
cities and towns, these highways
are the primary facilitators of trade
and connectivity.

PRSQ

SPQR

PRQS

SQRP

The South African Constution
was inaugurated i December
1996.

A special consututional court
enforces the rights coshrined in the
Constitution.

: Its creation and promulgation took

place at a time when South Afnea
still faced the threat of a cwvil
war after the dissolution of the
Apartheid Governuent.

GET IT ON
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Q : The South African Constitution
says that its “Bill of Rights is a
cornerstone of democracy in South
Africa.”

R : Apropos, it forbids discnimination
on the grounds of “race, gender,
pregnancy, mantal status, ethnic
or social origin, colour, age,
disability, religion, conscience,
belief, culture, language and birth™.

S : The Bill of Rights grants perhaps
the most extensive range of nghts
to the citizens.

(a) QSRP
) SPQR
(c) PQRS
(d) PQSR

40. S1: Our Constitution reminds us of

the necessity of representation in
a large democracy.
S6: Elections have today become the

most wisible symbol of the
democratic process.

P : This is why eclections become
important.

Q : Therefore representatives are
elected by the people.

R : Whenever we think of India as a
democracy, our mind invanably
turns to our successful elections.

¢ All citizens cannot participate in
taking every decision.

(@) QSRP

(b) SPQR

“(¢) PQSR

(d) SQPR

C - AEBC-A-GAL
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Directi The following items have a sentence in direct or indirect speech with four
irections : The fo

i indi into indirect or direct
i - ns converts the direct or indirect speech in
g:lt::tsiyo;:l:ci ttl;; ‘::‘::::: option and mark your response on the Answer Sheet.

41. Convert from direct speech to indirect
speech :
Charu said to her friend, “I want you o
be here at 6.00 p.m. tomorrow for the
meeting.”

(a) Charu told her friend that she
®  wanted her to be there at 6:00 pm.
the next day for the meeting

(b) Charu told her friend that she
wanted her to be there at 6.00 p.m.
tomorrow for the meeting

(c) Charu requested her friend that
she wanted her to be there at 6.00
p-m. tomorrow for the meeting

(d) Charu told her friend that she will
want her to be here at 6.00 p.m.
the next day for the meeting

42. Convert from direct speech to indirect
speech :

Nitin said to his brother, “What a

beautiful painting it is 7”
(a) Nitin wondered to his brother that
what a beautiful painting it was

(b) Nitin wondered before his bfother
that it was a beautiful painting

() Nitin exclaimed that it is a
beautiful painting

(d) Nitin asked his brother whether
it was beautiful painting

43. Convert from indirect speech to direct
speech :
The teacher asked her students why

they had been quiet in the previous
class.

(a) The teacher asked her students,
“Why were they keeping quiet in
the previous class ?”

(b) The teacher said to her students,

®* “Why were you quiet in the
previous class ?”

(c) The teacher said to her students,
“Why had you been quiet in the
previous class ?”

(d) The teacher said to her students,

“Why were you quiet in previous
class ?”

Directions E Following items have four sentences, one of which is correct, Find the
correct option and mark your response in the Answer Sheet.

44. Which one of the following sentences
is correct ?
(@) He is considered as the brightest
intellectual in the country
(b) He is considered as one among

the brightest intellectual in the
country

AEBC-A-GAT - C

(c) He is considered as one among

the brighter intellectual in the
country

(d) He is considered as one of the
intellectual in the country

10

45. Which one of the following sentences
is correct ?

* *(a) No other mountain is taller than
the Himalayas

(b) No other mountain is tall than the
Himalayas

(c) No other mountains taller than the
Himalayas

(d) No other mountain is taller then
the Himalayas

Directions : In the following items, a pair of words is provided. You are required to select
the option that most appropriately describes the meaning of both the words and mark your

Tesponse on the Answer Sheet accordingly.

46. Confident and Confidant

(@) Confident means certain and
confidant means close friend

(b) Confidant means certain and
confident means close friend

() Confident means belief and
confidant means an emissary

*(d) Confident means assurance and
, confidant means intimate person

47. Broke and brook

(a) Broke means abundance and

brook means a flowing water
body

¢(b) Broke means bankrupt and brook
means a stream

(c) Broke means fractured and brook
means nonsense

(d) Broke means negotiate and brook
means a stream

48. Accept and Except

(a) Accept means apart from and
except means recognise

(b) Accept means recognise and
except means include

11

+(€) Accept means consent and except
means apart from

(d) Accept means allude and except
means apart from

49. Accord and Accrued

(@) Accord means collected

and
accrued means agreement
(®) Accord means agreement and
accrued means arrived
(¢) Accord means accepted and
accrued means received
(d) Accord means agreement and

accrued means accumulated
50. Guarantee and Warranty

(@) Guarantee is an agreement and
warranty is a service contract
(®) Guarantee is a business agreement
and warranty is a service contract
«(©) Guarantee is a promise and
warranty is a service contract
(@) Guarantee is acceptance and
warranty is a service contract

C — AEBC-A-GAT
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5. 99K wwEm ¥ kw weRd
et F i o T AR
o, wiekRwt ¥ YA (cramps) T
mmt,ﬁﬁmﬁmﬁm%?

(a) wrdt (ATP)
(b) vTEEe
(c) WA
@ v
52. Yerse it Uw e, fed e w6t

¥ 8 iR st B Xt sjwend, B
LR felasdt  ?

(2) wrafe €=
) fcta=s s
(©) Tfaw s
() ¥gF T
53. Ffaam forat SqRRT & 7
(2) Wi Afem
®) ¥ Afeew
(c) saavt afwew
(d) =t Fas
54. 71 B0 & 5@ 7@ AR W I @
werdl @ i ' 9% Wk @ S
27
@ T # fm wm gk
HTadFa B I §
®) 7 F fmm am ok 3
Foafaa g v §
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(c) s 3 Rt e o 3t T
wreoTa | W &
@ ¢ arffrar 7 B R

55. 7% R 9y (DNA) F # qr
SR A g A E
(@) TEhH, arEhe % W I A ®
() Tehm, T & T T3 T R

(©) TEhA, ETEAE ¥ A S e
?

() =R, Tt ¥ | o1 T &
56. Th &1 G 9 (clotting of blood) ¥,

frafafes & ¥ S9-w1 o oW
e WA i B @ 2

(2) A (Yo

(b) Wl

() Teq W (Frher)
(@) weEn (FnErE)

57. Rl (Yearaifts) Wikfm €

TR @ e Y o 7
(a) - Wifew shw

(b) wifw fafcera

(c) = =i

(d) IR wifim

58. wAfaT Tl &1 Jr-arew 2
(a) TR QAIHeT FaT
(b) R T TR
() W QA rr Howx
(d) WG FEETH X
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PART - B

51. The lactic acid that gets accumulated
in the muscle cells during rigorous
exercise causing muscle cramps is
produced from

.(a) ATP

(b) Pyruvate
(c) Ethanol
(d) Glucose

52. A chain of peptide containing linear
sequences of amino acid linked by
peptide bonds best represent the
(a) Primary structure
(b) Secondary structure
(c) Tertiary structure

(d) Quatemary structure

53. Cambium is an example of
(a) Lateral meristem
(b) Apical meristem
(c) Intercalary meristem
(d) Permanent tissue
$4. What happens when the fat and oil
containing food materials are left

outside for a long time ?

(a) Fats and oils in the food get
oxidized

() Fats and oils in the food get
reduced

13

(c) Fats and oils in the food get
ice-covered

(d) No reaction takes place

55. Which is the correct base pairing found
in a normal DNA molecule ?

*(a) Adenine pairs with Thymine
(b) Adenine pairs with Guanine
() Adenine pairs with Cytosine
(d) Thymine pairs with Guanine
56. Clotting of blood involves which one
among the following clotting proteins ?
(a) Pathogen
*(b) Fibrinogen
(¢) Macrophage
(d) Phagocytes
57. Initial discovery of antibiotic penicillin
was done by
(a) Francis Crick
(b) Maurice Wilkins
(c) Charles Darwin
(@ Alexander Fleming

38. The vector of malaria parasites is
(@) Male dnopheles mosquito
(®) Male Culex mosquito
* (¢) Female Anopheles mosquito
(d) Female Culex mosquito

C - AEBC-A-GAT
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59, frfrfe &% ¥ w-ar/@AA TW
% gif &/ 2
1. T 2 FW
| - 2. &R (TB) : emifead
| A3 fg 70 g R TR I
(@ ¥=1
) ¥ 2
() 13K 23t
@ TId 1,2

60. faerfim B1 = fsw A @ it S S
?7?
(@) TSI
() A
© e
d) THEIA

61. frafafad W (Longitude) 3k
FER (Latitude) @@ W® =R
whiforg .

1. @ IFARR (Prime Meridian)
2. & @ (Tropic of Cancer)
3. g 99 (Equator)
I0E A ¥ @A Xan/En geq
d (Great Circle)® /% ?
@ 1,28K3
®) @ 13K 2
() ¥ 19K 3
d) ¥« 3

62. #r¥ g T G @ ok i gy

faemmal & T #, @@ I wm
frafafaa # & aF-m ¢ 2
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1. ThEEe

2. 3w (FTEH)

3. IRiEEA

¥ fog g g 7 A AR I I -
@ 2,3,1

® 1,2,3
© 21,3
@ 1,3,2

63. 7@ smwa  WheAT - (Mechanical
- weathering process) ¥ fafofad & ¥

-1 /2R g 99 2/% 7
1. T[EEENT & (Gravitational Force)
2. WU I (Expansion Force)

3. Wl € % R0 = (Force due to
water pressure)

X R Mg g F vEw W IR P :

(2) %A 1

() ¥ 13K 2
(c) et 23K 3.

- @ 1,28k 3 -
64. Frafafaa # ¥ -t e wemmdg

aRT/4RIE ® /€ ?
1. SSTERT 8T (Alaska Current)
2. 398 Heeifed A (North
Atlantic Drift)

3. ol e AWETE (West Wind
Drift)

A fog g e w1 i o e gfi

(a) Faa 1

(b) 13K 2

(¢ 23R 3

(d) ¥ae 3

59.

61.

-

62,

Which of the following pairs is/are
correctly matched ?

1. Malaria : Mpycobacterium
2.TB : Plasmodium

Select the answer using the code given
below :

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. Vitamin Bl is also known as

(@) Riboflavin
() Thiamin
(c) Retinol
(d) Tocopherol
Consider the following lines of Longi-
tude and Latitude :
1. Prime Meridian
2. Tropic of Cancer
3. Equator

Which of the above lines is/are a Great
Circle ?

(@ 1,2and3

(®) 1 and 2 only

(©) 1 and 3 only

(d) 3 only

Which of the following is the correct
ascending order of the given minerals

in terms of their presence in the Earth’s
crust ?

GET IT ON
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1. Amphibolite
2. Mica
3. Pyroxene

Select the answer using the code given
below :

(@ 2,3,1
(®) 1,2,3
© 21,3
@ 1,3,2

63. Which of the following is/are

the applied forces in mechanical
weathering process ?

1. Gravitational force
2. Expansion force
3. Force due to water pressure

Select the answer using the code given
below :

*(a) 1 only

(®) 1 and 2 only
() 2 and 3 only
(@ 1,2and3

64. Which of the following is/are cold

©Ocean current/currents ?
1. Alaska Current
2. North Atlantic Drift
3. West Wind Drift

Select the answer using the code given
below :

(@) 1 only
(®) 1and2
(c) 2and 3
(d) 3 only

C — AEBC-A-GAT
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65. T8 Mo F s yaE@ (Summer
Solstice) ¥ g Prafitira ¥ ¥ B
ey W R W A T
T ?

(2) Idfes gm0
®) fg =
© THx&
d) TR @

66. SRR 7 (Coriolis force) ¥ e
# feafefen & ¥ F-w/aRR
wo W v /% ?

1. SfEitm o0 @ yamE 59 F
weaq FE T §

2. fageq 9@ w, FifEivE @ @
B € @R vE waeE @Et %
Teaq T

¥ g g e o v IR R :
(2) =1

) ¥ 2

() 13K 23t

@ AdX1,982

67. afem IR (Sleet) T Tt #, fFrmferfaa

# A -/ AR-R T w2/ e

1. 8fem of ol of aef & R ¥

ok Rkt ¢ w6 ¥ e & oo
wgEE

2.7 9@ T ® v forw fag ¥

A & A A g H

WA, A i 7ag F frae v w
| R firdt #
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(a) ¥« 1 ‘
() ¥ 2

(© 13k 23t

@ ARMLAR2

68. 3E vt wear Prefefea
Fyfm A AR ?

() wda g anfr
®) stefm = i @
(¢) <o s
(@) <o st

69. G W = wEy =1 AR i
feftfc it iRa i ?

(a) 3" W
®) sifswm
(c) =TT
(@) afreeg
70. ‘W (Sholas)’ % &9 & 7a <hw wra

F ddosfeata o7 frafafea ¥ 3
forr vt % w o # 2

1. AT

2. Hafiik

3. qTet (Palani)

A feu T e = W W S
(a) ¥ 1 '
() T 18Rk 2

() ¥ 23K 3

d 1,28k 3

65. Which one of the following latitudes

67.

will experience a minimum angle of
the Sun’s rays when it is Summer
Solstice in the Northern Hemisphere ?
(a) Arctic Circle

(b) Equator

(c) Tropic of Cancer

"(d) Tropic of Capricorn

. Which of the following statements

with reference to Coriolis force is/are
correct ?

1. Coriolis force acts perpendicular
to the pressure gradient force

2. At the equator, the Coriolis force
is zero and the wind blows
perpendicular to the isobars

Select the answer using the code given
below :

(a) 1 only

(®) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements
with reference to Sleet is/are correct ?

1. Sleet is frozen raindrops and
refrozen melted snow-water

2. It occurs when a layer of air with
the temperature below freezing
point overlies a warm layer near
the ground surface

| S
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GET IT ON

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

68. Humid Subtropical Climate is NOT
experienced in which one among the
following regions ?

(a) Coastal South Afnica
(b) East coast of Australia
(c) South Japan
(d) South Argentina
69. Mahendragiri, the highest peak of the

Eastern Ghats, is located in which one
of the following states ?

(a) Andhra Pradesh
(b) Odisha

(¢) Telangana
*(d) Tamil Nadu

70. Temperate forests of South India,

known as ‘Sholas” are found in which
of the following hills ?

1. Anaimalaj
2. Nilgiris
3. Palani

Sclect the answer using the code given
below :

(@ 1 only

(®) 1 and 2 only
(€) 2 and 3 only
@ 1,2and 3

C - AEBC-A-GAT
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71.WR W, W wER B A
R 202324 3 e, Prffed &
¥ P T W R TR F G
JRE € ?

(a) ToEM AR TERE
() T 3R we W
(c) ¥RES IR Toa™
(@) wrER IR 7= W

72. foefifen & & @, Towa R
T T A & AE R ?
(a) IFATR (Ankaleshwar)
(b) HEaT (Kosamba)
(c) WA (Mehsana)
(d) 9 (Moran)

73. Y- sfeEl & gar, i af
o Ff-aFg =4y (Culturable
Waste-Land) % &9 # wrffga faar smar
3 alk = e oot @ afts & forg
ol (IF) @ T § ?

(a) 2a¢
() 3¢
(© 4vd
(@ sad
74. frofefea & ¥ R, wdm @ gean

fm afvfess wea (NFSM-CC) #
e &l v mar ¢ 2

(2) w9
(b) FTE
© B’
(@ A

AEBC-A-GAT - C
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75. @ v wan & waw § Pt

Tt ® R fifg :
L % ¥ weam & 1964 # wfiw
o @ :
II 9% TS o A Hie Iawn W
Far §

m s ok we-frge # syt
TR T Frmm R 6 o R

I i ¥ AR W I 6
fafea Hifing .

(a) Toard s s

(b) NFR TR T

(¢) TSTHAT TEI@ HIA

(@) FR v &

76. va # frafofea v vt # @

foFa | A zam =0 =A@ F fog aiar
# ww auadm  (feuR) e
forfra form mam @ 2

(a) AT TTH

(b) = T

(c) TR W

(d) 9 WR e

77. 9@ 7 fafe fd 2021 & sEr,

Frafafea & & fm Remeredt oo &
W Whifas &7 W waits whna
HE?

(a) FEUTHA WU
(b) femae s
(c) fafFam
(d) STEE

71. As per the Annual Report 2023-24 of

the Ministry of Mines, Government of
India, which of the following states are
the major producer of Copper in the
country ?

(2) Rajasthan and Gujarat
(b) Rajasthan and Madhya Pradesh
(c) Jharkhand and Rajasthan

¢ (d) Jharkhand and Madhya Pradesh

72.

73.

74.

Which one among the following is
NOT a major oil field located in
Gujarat ?

(a) Ankaleshwar

(b) Kosamba

(c¢) Mehsana

(d) Moran

As per the Land Revenue Records,
any land is categorized as Culturable

Waste-Land if it is left fallow (unculti-
vated) for more than

(a) 2 years
(b) 3 years
(c) 4 years
(@ 5 years
Which one among the following is
NOT included in the National Food

Security Mission Commercial Crops
(NFSM-CC) ?

(a) Cotton
(b) Coffee
(c) Jute

(d) Sugar cane

GET IT ON

Google Play

75. Consider the following statements with

76.

19

regard to a steel plant :

I It was setup in 1964 with Russian
collaboration

Il. It receives iron ore from the
Rourkela region

II. Water and Hydel power is
supplied by the Damodar Valley
Corporation

Identify the Steel Plant on the basis of
the above facts :

(a) Bhilai Steel Plant

(b) Bokaro Steel Plant

4{c) Rourkela Steel Plant

(d) Durgapur Steel Plant

An offshore terminal at Vadinar has
been developed to reduce pressure
from which of the following major
ports in India ?

(a) Kandla Port

(b) Cochin Port h

(¢) Mormugao Port R

(d) New Mangalore Port

As per the India State of Forest Report
2021, which one of the following
Himalayan states has the highest per-
centage of its geographical area under
forest ?

(2) Arunachal Pradesh

(b) Himachal Pradesh

(¢) Sikkim
«(d) Unarakhand

C — AEBC-A-GAY
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& e & e 8, P 4R
-/ o T /2

1. 3 it ) oRfY 1 9T (follow)
= ¢

zimmhﬂ(&)n%
T Q&

AR R g g 1 v R W I :
(@ ¥« 1
®) ¥ 2
© 13K 23Et
@ JFdq1,782
79. ¥4 SAEREE TG 954 T GRT T5aK

FEE W F w9 ¥ Pl o o B,
@ fraffa A s s g 2

(a) JETee
(b) TG E ()
() &
) TE
80. 9N F VA F T ¥ gy

fraferfiaa 3 3 formr e /ot e
) yAfaE grar ¢ 7

1. 9 &1 A
2. Fmgar

3. aM9AR
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M g g e w7 e a g g
(@) ¥ 1

®) ¥ 13k 2

() ¥ 23k 3

@ 1,23k 3

sl.gfmﬁﬁaﬁ%ﬂa—mmw@wﬁ
?

(@ W ¥ oy A swen T w@-
It 3 W o R ww E

®) W F oovpi ¥ wwlwwh
(Tgwfes) sk sewreh
(Tifsfers) o AR O €

(© R v@ ¥ wgw H gew ¥
It (feeste) afts e
2

(@) TRe & st =1 smafre-Rrr ¥
w0 Y 3R e R, wrafn g R
e 6 AR e

82. @ A d - s w2 7
@) T T WA 3R e *
e ¥ s | wf w

I () ' R

(b) TH TG F THAA, Th W
¥ TEEA WO 1/2000 To0

vt

(c) T ¥ T G w S
¥ (Goiter) & vTR # fen
T # .

@ 3, %, gimad 3 ek fen R
oA F e # FEw A
LCad

78. Which of the following statements
with reference to L-Wave or Long

Wave generated by an earthquake
is/are correct ?

1. They follow the Earth's circum-
ference

2. They travel at more or less at a
constant rate

4 - Select the answer using the code given
~ below:

whm volcanic ash is camed by

jater is influenced by which of the
following factor/ factors ?

GET IT ON
Google Play

Select the answer using the code given
below :

(a) 1 only
(b) 1 and 2 only
»(c) 2 and 3 only
(d) 1,2 and 3
81. Which one of the following statements
is NOT correct ?

(a) The molecules of soap are sodium
or potassium saits of long chain

fatty acids

(b) The molecules of soap contain
both hydrophobic and hydrophilic
ends

(¢) Detergents are more effective than
soaps in hard water

(d) In micelles the ionic-end of the
molecules is towards oil droplet
while the other end faces outside

82. Which one of the following statements
1s correct ?

(@) A neutron is formed by combi-

nation of an electron and a proton.
Therefore, it is neutral

(b) The mass of an electron is about
1/2000 times that of a proton

(¢) An isotope of cobalt is used in the
treatment of goiter

(d) J.J Thomson proposed that the

nucleus of an atom contains only
neutrons

C — AEBC-A-GAT
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¥ e ¥,
83. 3, m;%q;?mﬁ@aﬁ
4t 2
(a) W
®) W
() Wi
@) g

84. O ¥ Al Wew A

fraffes % ¥ Sw-w fowd T

freaar @ 2

(@) W ¥ T S () I
e ¢ AR aifie w1 ®

(b) T H AT W TN
f¥s & g } 3 ’

() T T & W AR AR
R g E

(@) T F1 AEFER T F AER
H gor F st S v @

85. T X TF Farige o ¢, foew g
XCL R, SN =4 o a1 TF o
2 | waifys dvaa: X smad wwolt
S&t g # o Tt freafafaa @
(@) Na

() Al

() Mg

@ K

86. frafafaa siFarsdt & & -wr @
I () sriFaEs # 7

() CO

(b) CO,

(¢) Na0

(d) MgO

AEBC-A-GAT - C
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87, Prefufra 3 3 AR, o ¥1 A AW

o o (g omgw) ¥ w9 A A S
ST R ?
@) Si0,
() €O,
(c) CaO
(d) MgO

88. Frafifea § ¥ @-a1 Fa7 w& FE

®?

(@) Tt fooma # Tagom T R
TiEa W A9 A e @ pH
e FEl 9T ©

®) Pt foemm & Trdem oA @
wigar freht 3= B, S8 pH
IO & 959 BRT

(c) & pH & "mwga: frelt pH w&va
R 0¥ 14 TF A THY €

(d) pH¥ ‘p’ N VA WA W ‘WA

(Potenz)’ ¥ 2, Fra ord wfs

(power) ®

89, freafifen ¥ 2 e T wh

27
(@) STP R A | F smn Wi
(mole) F Y 112 A BraT 2

(b) STP W 17 3™ aefyar g #
6:022 x 103 317 Bra €

(c) STPW 22-4+&R CO,Ma ¥ 449w
] B ¥

(d) 47 TrEEE W FH 6.022 x 108
oo T §

83. Which one of the following particles in

the nucleus of an atom was discovered
by J. Chadwick ?

(a) Electron
(b) Proton
(c) Positron
(d) Neutron

84. Which one of the following findings is

NOT observed in Rutherford’s Nuclear
Model of Atom ?

(a) There is a neutral centre in an
atom called nucleus

(b) Nearly all the mass of an atom
resides in the nucleus

(¢) The electrons revolve around the
nucleus in a circular path

(d) The size of a nucleus is very small
as compared to the size of atom

8S. Element X forms a chloride with the

formula XCl,, which is a solid with
high melting point. X would most
likely be in the same group of periodic
table as

(a) Na
(b) Al
(c) Mg
@ K

86. Which one of the following oxides is a

neutral oxide ?

(a) Co

«(®) CO, v
(c) Na,0
(d Mgo

L

GET IT ON

Google Play

87. Which one of the following is also

known as Dry ice in its solid form ?
(a) SiO;
-(b) CO;

(c) CaO

(d) MgO

88. Which one of the following statements

is NOT correct ?

(a) A scale measuring hydrogen ion
concentration in a solution is
called pH scale

«(b) The higher the hydrogen ion

concentration in a solution, higher
is its pH

() We can measure pH generally
from 0 to 14 on a pH scale

(@) The °p” in pH stands for ‘potenz’
in German meaning power

89. Which one of the following statements

is NOT correct ?

(@) Half mole of nitrogen gas is
measured 11-2 litre at STP

(®) 17 gram of ammonia gas contains
6-022 x 10™ molecules at STP

() 224 lite of CO, gas at STP
contains 44 gram of molecules

(d) 4 gram of hydrogen gas contains
6-:022 x 10™ molecules

C — AEBC-A-GAT
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90, freht A ¥ ik ¥, P F A

-1 TG T AR & ?

@ mamaamaﬁ%‘g

©) Rl D ¥ o I T T

CRECE I
(©) i T sy W R

91. Tt 1 9 g 11 ¥ gl it ik

T ¥ A R g @ o R
e 31'\-1‘( .
LS T I
(<raratrs (et
ar) @)
A=W ®=r 1. CaOCL,
B.aferEeT 2. NaHCO, »
C. =efifeT TR 3. N2,CO5-10H,0
D. 4. CaS042H,0
&< :
A B C D
@ 4 2 1 3
® 4 1 2 3
© 3 1 2 4
@ 3 2 1 4

92, frpafafaa & & fam Argrom wiwam:

a1 fzaga (dimerize) B @1 £ ?

AEBC-A-GAT - C

(8) N;O
() NO,
(€) N0,

@

N,0s

93. sttt 3Rk aroe siffeAe &
&y & frafufee § ¥ F|-w T
TR
(@) TR Rt word 3 arfefiean % KA

(®)

©

@

o4. gt 1 9 ot 1 ¥ gAfr Aifirg sk
ot & AR R T W A =

TegE a1 frewre O 8, @ 9%
St o ST ®

afk foch e 3 i & e
At o Premew @ 8, @
T o=l o 9 R

If Rl werd 3 afifimn ¥ dRW
T & oW e R, @ T
=i B S ®

s ot ward 3 arfiean 3 S
A N Wi o R, @ @
Flediepa &Y W §

Wﬁﬁm: )

© AAT9HT

T 1 L1
(ifs (ST 7f¥e)

A1)
1. Sfea

B. WK 2. feratum

C.gqqm™

3. UTEERe

D.q & 4. A
Fc:

(a)
()
©
(@)

w o= W=
CRF N SN
A0SO
—_w =W

90. Which one of the following statements
about a compound is NOT correct ?

91.

92,

(a)

(b)

A°)

@

A compound is a substance com-
posed of two or more eclements,
chemically combined in a fixed
proportion

Properties of a compound are
different from its constituent
elements

A compound is an impure sub-
stance

The constituents of a compound
can be separated only by chemical
or electrochemical reactions

Match List I with List IT and select the
answer using the code given below the

Lists :
ListI List IT
(Chemical (Chemical
Name) Formula)
A,

Washing soda 1. CaOCl,

B. Baking soda 2. NaHCO,
C. Bleaching 3. Na,CO;10H,0.
i 4. CaSO,2H,0~
D. Gypsum
Code :
A B C D
(a) 4 2 1 3
(®) » REC1 2 3
© 3 \l'_ 2 4
@ 3 2 1 4

Which one of the following nitrogen
oxides may dimerize ?

GET IT ON
Google Play

(3) N20 c F;-
() NO; o 1’6"’
© N0 ogo O

(d) N;Os

93. Which one of the following statements
regarding oxidation and reduction
reactions is NOT correct ?

(a) If a substance loses hydrogen
" during reaction, it is reduced
(b) If a substance loses oxygen during
reaction, it is reduced
(c) If a substance gains hydrogen
during reaction, it is reduced
(d) If a substance gains oxygen during
reaction, it is oxidized

94. Match List I with List II and select the
answer using the code given below the

Lists :
List 1 List I1
(Physical (SI Uniz)
Quantity)
A. Temperature 1. Kelvin
B. Weight 2. Kilogram
C. Mass 3. Pascal
D. Pressure 4. Newton
Code :
A B C D

@ 1. 2 4 3

® 3 4 2

© 1 4.2 3

@ 3 2 & 1

C - AEBC-A-GAT
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95. srr-ast % firg, et o w1 pH Foerd (o) Rew et (Empty seal)
m@mm') ) s G
@ 70 () 3% '
®) 66 AR
©) 56 e oL
@ 80 100. fifewr wra #, feafifa & & R
96. 350 shefrs Ry ¥, @ @ srftfram & st framor 3 famr @ o
1850 % = g o, il F @ R rafs 7 foreg T o A 2
- /AR wg@ v /A @ ¥Efrewe, 17730
e g an ? ®© Weww, 1919
(a) P ik e (©) fozw Rar e, 1784
() wu@ i war 3K A (Cotton (@) e siw ST T, 1935
spinning and weaving) : v ik
(© o ik frgw 101. 35w e & aR ¥ Frmffm ¥ ¥
d) W9 S (""’;‘:T::’fg;w ?qftr G
a & BSIT WA
97.FWE FE (Seals) & fmfor ERERSES L T
Frafufes % ¥ frm wmht = sgam b)) ¥ Fu wer ¥ affmm ¥
Tovart arar a2 e § g fear war ar
(2) FF TR (Sandstone) © e g R wr ot 5 om
(b) =S AR (Lapis lazuli) @ T wh R % gee A

(¢) SR (Jasper) o R .
(d) ¥ (Steatitc) @ % w1 e g fer A fe

98. ¥t wma #, Feafofer ¥ ¥ fom By
T ¥ WA (Oligarchy) 102 W (Rreeai wivhe) st

wE foreeh forg Sy e 2 7
(@ 3w ' () TR Erw-ET - wE
() = w & g o g yomeh
(c) MER () EEE-TET f o % wg §
@ wmy mwﬁaﬁﬁ%ﬁﬁ@’ﬁm

9.5 T A W T et
Tfderermait (Sculptures) % & Fh7-aft,

(c) WT¥ seqEEE ¥ fg smm
m:a}zﬁwﬂ%ﬁﬁawﬁ%? o

" fEq wo
(d) ARG TF 1 137

AEBC-A-GAT - C 2

958, For acid rain, the pH of rain water
should be less than

! (a) 70

& () 66
- (c) 56
. (@ 80

96. Which of the following main industry/
industries was/were developed in the
second industrial revolution that took
place after about 1850 ?

(2) Coal and iron

’(B) Cotton spinning and weaving
" (9) Chemical and electrical
~_(d) Stcam engines

~ 97. Which among the following materials

~ was used in making the Harappan
seals ?

- (a) Sandstone

~ (b) Lapis lazuli

 (©) Jasper

(@) Steatite

mahajanapadas in ancient India was
an oligarchy ?

@ Vaii

(b) Kosala

(9 Gandhara

K (d) Magadha

199, Which one of the following sculptures

found at Sanchi Stupa is NOT durectly
inspired by Buddhist ideas ?

GET IT ON
Google Play
(a) Empty seat
(b) Shalbhanjika
(c) Tree
.(d) Wheel

100. In British India, which one among the
following Acts permitted detention
without trial for up to two years ?

(a) Regulating Act, 1773

(b) Rowlatt Act, 1919

(c) Pitt’s India Act, 1784

(d) Government of [ndia Act, 1935

101. Which one of the following statements
about the Bhoodan Movement is

correct 7

(a) The target was to get one-sixth
of cultivable land in India as
donation

(b) It was approved through a Central
Government Act

(¢) It was ensured that the donated
land was free from all hitigation

(d) The first donation of land was in
Bihar
102. The Constitution (Seventy-third Amend-
ment) Act provides for

(a) an elaborate system of estab-
lishing municipal self-government

(®) an elaborate system of estab-
lishing panchayats as units of self-
government

(c) establishing a Commission for
Linguistic Minorities

(d) the creation of the Jharkhand State

C — AEBC-A-GAT
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103. NRaWe  (BHARATPOL) Wée
T fred g T R 2

(a) wra fafea s

) ¥ R R

(©) wadv furem

(@) wretg whgfy ok faftem
104. ¥Ra F Fog F R # Prafa & &

F-61 G WS E 7

(@) T W F wQE R qgEAT W
frafe smquifes wfiifife wef
F IR @A TG WG GRT
ot s

() Tl T Tsw W wedi

T ¥ T F IvEweRy =@y
AR forar smar @

(© ¥ T A w7l & sy @

B ¥ e fafe 7@ frr
T ©

@ % w0 % ww o w3
et & Frafa & s o) &
105. frfafea 3 & 3-an, vaef 3 o
gt & aner i & 2 b

(@) TF-TR i T-2efa s ok
AT & &R FHEH

(b) FHEET AR wER fig
() wifogt we-afere
(d) 9T FFER

AEBC-A-GAT - C 28

106, Tedt st &, wRa #F 7FH (Maize)

L e R

(@) qdms

®) ;her sk |9
(c) == ok wferar
@ T (IH)

107. 5 19 ft & gif iftrg sk
- T ¥ AN Ry g g W o W
S| g :

T 1 T
(9=asrg (297)
Fi57) _
A USET YA 1, fiw stk sl
RISkl wmash feema
B. A Yy 2. e geren
ST (rht
C.od deadl )
AT 3. 9, ASAIR
D. 9Rgdt mm
YSaETg dieFT 4. SR
R TwHar &
ary fawE

Fc:

A B .C D
@ 1 4 3 2
®» 2 3 4 1
© 2 4 3 1
@ 1 3 4 2

(&

103.

:

BHARATPOL portal has been devel-
oped by

(a) The Election Commission of India

(b) The Central Bureau of Investiga-
tion

(c) The Enforcement Directorate

(d) The Securitics and Exchange
Board of India

. Which one of the following statements

about the Parliament of India is

correct ?

(a) A majority of members of Rajya
Sabha are elected by a system
of proportional representation
by means of single transferable
vote

(b) The Deputy Chairperson of the

Rajya Sabha is nominated by
the President from among the
members of the Rajya Sabha

() The Lok Sabha cannot be
dissolved before the completion
of its five year term

(d) The members of Lok Sabha also
vote in the election of the
members of Rajya Sabha

~ 105. Which one among the following does

NOT figure among the Five Principles
of Panchsheel ?

(@) Mutual respect for each ot_her's
territorial integrity and sovereignty

(b) Equality and mutual benefit
(c) Peaceful coexistence

(d) Nuclear non-proliferation

2

GET IT ON
Google Play

106. Maize (makka) was introduced into
India in the seventeenth century via

(a) Portugal
(b) Africa and Spain
(c) China and Mongolia
(d) Turkey
107. Match List I with List II and select the

answer using the code given below the
Lists :

List I ListII
(Five Year Plan) (Obyjective)
A. Fifth Five 1. Towards
Year Plan Faster and
More Inclusive
B. Seventh Five Growth
Year Plan
2. Ganbi Hatao
C. Ninth Five (Removal of
Year Plan Poverty)
" 3. Food, Work
D. Eleventh Five
Year Plan and Produc-
tivity
4. Growth with
Social Justice
and Equality
Code :
A B C D
@ 1 4 3 2
® 2 3 4 1
© 2 4 3 1

@ 1 3 4

(5]
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108, st sida & g 4§, Frfraa &
¥ S-w /-y s /R ?

1. Yt vt & v # AT
=1 it o dwEER ¥
sreht s (Proponent) 3 ¥ &

=
2. ¥ T dwEEr ¥ GEATE &

3. I Rremd s o % w9 H
W §

4. 320 w7 3R W R w@lE =R
= refea fem

" fog g e w1 WA W S gf
(@ ¥ 13K 2
() Faw 23k 3
(c) ¥ 1,39K 4
@ 1,2,33k4
109. fafewr e ifear @t ¥ Prafifea

¥ ¥ 5w R ad 1611 § s
FREMT. T frar a7 ?

(2) W=
() wgfeTen
(c) s=%
(d) STETER
110. 5RdE T FRem ¥ wefg
frafafes  wifs s @

aréﬁm%‘!sgsmgqm
'éﬂ?ﬁiﬂfﬁm:

AEBC-A-GAT - C
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111.

112.

1. @ Yl A
2. g affofa  (FeE

108, Which of the following statements
about Srimanta Shankardeva is/are

B i correct ?
» s vt | L el
o e e | i o
3 fog g e WA W IR g : 2. He was the founder of Gaudiya
(@ 3,1,2, 4 Vaishnavism
®) 1,3,2,4 ; 7 3. His teachings are known as

5 4 3 Bhagavati Dharma

@ 1 4. He encouraged the establishment
»2,3,4

of satra and naam ghar

Select the answer using the code given
below :

Pl 3 ¥ e st ¥, R

& =, S wiEal 9k ARa &
et F U s § wm o
FHaH IEEE ' feg S E
sty ferar w2 ,
@ 1773 % Wgafn v i
(b) 1793 & TR TR

(c) 1813 =T UFe

() 1858 %1 e aifw e we

(@) 1 and 2 only

(b) 2 and 3 only

(¢) 1, 3 and 4 only

(d) 1,2,3 and 4
109. At which one among the following
places did the Brtish East India

Company found its factory in the year
1611 ?

Frafufaa % ¥ fred 1882 % s da (@ Madras
qEa fomar a1, R e 3§ @y (b) Masulipatam
-G 1 AT el el ST R ? () Borubay
() = fid (d) Balasore
(b) =i S ‘
! : - 110. Chronologically arrange the following
(ORSIER political events related to Indian
g . National Movement beginning from
(d) =ié faformm Jfea

the earliest :

k)|

GET IT ON

Google Play

1. Formation of Swaraj Party
2. Communal Award

3. Lucknow Pact

4. Simla Conference

Select the answer using the code given
below :

(@ 3,1,2,4
®) 1,3,2,4
© 2,1,4,3
d 1,2,3,4

111. Which among the following Acts
provided for the establishment of a
Supreme Court of Justice at Calcutta
for Europeans, their employees and the
citizens of India ?

(a) The Regulating Act of 1773
(b) The Charter Act of 1793
(¢) The Charter Act of 1813

(@) Government of India Act of 1858

112, ‘Who, among the following, has
fntmduced a resolution in 1882 which
is also called the Magna Carta of
Local Self-Government in India ?

(a) Lord Macaulay
(®) Lord Canning
() Lord Ripon

(d) Lord William Bentinck

C — AEBC-A-GAT
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3. R W & wEs ¥ R
SarEeE

I § ¥ F-a Rl /Rdwang
AFAE WET H® Wifed <t

wehiftfa erar @

(© Fe sk T @ A T R

(d)ﬁmwmﬁhﬂﬁﬁm%ﬁﬁ

2. Political equality

3. Accountability of the ruled to the
ruler

Which of the above feature/features

113, Prafifea % @S- =, TR A Ry 7 g IR IR I { 113. Which one of the following terms is Select the answer using the code given
Rymavgt? @ 1,2,3,4 4 associated with the practice of Sufism ? below :
(a) ®) 2,3,4,1 (a) Jizya (@ 1,2,3,4
© 1,3,42 ®) lma b) 2,3, 4,1
Py @ 3,4,1,2 A © 1,3,4,2
(c) qFew ; 4 (¢) Mugaddam
116. 5@ §F & YO A & agHST ¥ 4 @ 3,4,1,2
@ I v s & o et 82 (@) Murid
. ) i k 116. What happens when the sunlight
114, frafife friwanit w fer fif ; (@) e 1, e g § [ Consider the Sollowing . u:::s? through the Earths atmos-
Rt 9w whiftfa BT ® ok
& = ; 3 1. Consent of the governed ¢(a) The blue colour is scattered more
D Y- up— () = T, e T H g F sl

compared to the red colour

(b) The red colour is scattersd more
compared to the blue colour

(c) Both the blue and the red colours

are scattered equally

R/E 2 S T gaw At wehiftla gt @ outline democratic rule ? (d) The blue colour i.v'. not scattered
@ ¥ 130 2 117. 5= Forelt St firs A arifires = & am ot 2 only :xu:stthemdwlou s
) ¥ 230K 3 w0 ¥ Rl e (fuid) % g (b) 2 and 3 only _ o
3 27 vt §, ot e 9 fis W W P 1 nzn :zmﬁzkywxmm : :ar;:;hy;:
) L e & == = € | 3@ 9« 0GR i fluid exerts an u

pward force on the
ek 1. 99 fie & g ¥ s g § (d) 3 only body. The magnitude of the force is

115. 7R # e W@ g, Feafafea

W[ W W FeE ¥ wEfRm
#Fifg, fre % ST A

2. 9% iz grr freafe oxe werd &
WR 3 TR B B

SHEE H ¥ FH-wr/EN-a

. Placing the earliest first, arrange the

following countries in the chrono-
logical order in which they granted

equal to
1. the mass of the body

2. the weight of the displaced fluid

3 ) by the bod:
e FAfER W e & /8 universal adult franchise : N azo“ N
1. T (USA) (@) ¥ 1 iy (@ 1 only
2. drean () et 2 2. Sri Lanka «® 2 only
3. 9T (© 13K 23t 3. Japan (¢) Both 1 and 2
4, WA

AEBC-A-GAT - C
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@ Aad1,a82

4. India

(d) Neither 1 nor 2
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18 7R ek s R e A TR 122, fwd At firge o ¥ WEm A ug

¢
| , p_‘r;
? wftwm R # warfea eeh &) 1 118. 1f the length of a copper wire is  122. A current through a horizontal power
S, A T whRR R g 2 o 2 ot 7 v B AN Rt kSl ' increased by twice, then its resistivity p line flows in east to west direction,
R ki ﬁl§ k will be . @ Q\ What will be the direction of magnetic
é'ﬂ’“ W 7 gn
(a) w ﬁﬂ ﬁ ﬁaﬂ Rl m ? i R L 1 %'r 6’ field at a point directly below it when
®) s (a) Doubled W Q/pr‘ viewed from east end ?
(@ T ¥ veaq a@ A e ‘ 2 N S
- (Clockwise) , g% Fisired e g (@) Clockwise in a plane pemen-
(@) TH-wtard . % = (c) Same dicular to the wire
(b) TR & Weaq 9@ A aHE (Anti- ; : oy
119, i 3 ¥ w-at fed i clockwise) i . St e r N papen
(dimensionless quantity) & ? ; l ; i
119. Which one of the follo d o
@ (©)- gmmﬁ( @ # Mo sionless quantity ? i (c) Sot;kms:,e in a plane of parallel
. € wire
®) fogfy ) ‘ (a) Stress
(@) IR F TAARR a0 F THEE (Anti- ‘ : (d) Aaticlockwise in a plane of
© = clockwise) .(b) Strain
@ ==

parallel to the wire
(c) Pressure

| 123. Which the following
120.39 f=m (system) =TT T £ IZS.mgzﬂmﬂT 3?, HAT STar (d) Force ch omne among the follo
I -0 % AW F A TS A ;

elements is known to be discovered
the earliest ?
iR me 2 ‘ 120. A system that does NOT allow
@ T ‘ exchange of heat with its surrounding (a) Copper
(a) =g frEm (Adiabatic system) wt : is called
g L ®) (® Gold
®) ) T (Non-adiabatic (a) Adiabatic system
system > ﬁ Oxve
© Non-adiabatic system (€} Oxygen
() =Eae Pl (Equilibrium Ot ? d) Urani
system) d ﬁﬁm (c) Equilibrium system (&) Uranium
d T h SE - »
@ 3“." e fe (Non-equili- (d) Non-equilibrium system 124. When a light ray passes through from
brium system) 124.““13;& T g QA EGH ﬁ', |ag ¥ air to water with a non-zero angle the
. IR T TR I TRl QY Rwor 121, If the speed of light in carbon disulfide ray will be
121. afg wrela TFESERIES mﬁafai'rm ] and vacuum is X and Y respectively,
F S (speed) T X K ¥ &, @ (a) P $ R % g T then (@) bending towards the normal
(@ X<vY ®) s T «(a) X<Y (b) bending away from the normal
M) X>Y . ®) X>Y (¢) propagating in straight line
© x=Y (©) ¥t X ¥ gk enft © X3 ¥
_y g (d) reflected towards the opposite
@. x= @ Feda R # s wrafba g @ X-v direction
AEBC-A-GAT - C 34 35
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ot 3

125. Rt iz (objecyy | TR F T F,

Frfifen 3 & S-an TRy T FHET

(equations of motion) & w7
(bt ¥ o wr d §)

(@ s=ut+%atz
®) u=v-a
(©) ¥ —?=2as
@ ¥R Q=
u+3a2n-1)
126. frfofea & & S-w1 797 a8 T
22

(2) oRT AR & forg Wit 3 it &
|&q Aot F G T wmar @

(b) dreeat 79 & g Aeerier F
gfeg § w7 vl # wafa
forr wmar &

(c) iR # v== whRw B @ ik
Wi F 7l = dar &

(d) IR # wfldw = B @ ok
Wi § 359 Wi S

127.Fafefee &% @ -, st ow
FIRIRaE da & 7

(a) Wi
®) wiFfes e
(c) varE F=if
(d) Frgar

AEBC-A-GAT - C
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128. 7R} 7 wRdw, fret & ¥ &F 1 Ohm
W R, @ g ¥ T 7 i
A Rt wiky g
(@ 1 Ohm

1
() 3 Ohm

() 3 Ohm
(d) 9 Ohm

129. frw wror ¥ o wieafr g A R 2
(2) =af TG = 9ade (Refraction)
(b) =afT TG 1 WEadT (Reflection)
(c) =ft ot = famdT (Diffraction )
@ = Tt ¥ SO HER

(Resonance)

130. THAATT 919 (uniform speed) T &1
(S S
(a) 3rfreaw
) T
(@ =
@ &

131. TF 957 a iR Frelt ot <dor & g
@)% 9wl 7 ¥ | wifm f R
R

(@ @@ P) 3K Bwa (F) F H, zdw
& N

(b) HFE (F) 3R 3w ¥ fiw, gl &
3

© @ (P) 3R sFa ¥ o, giw F
qHA

(@) S (F) R, gdvr 3 ¢

125. Which one of the following equations
related to the motion of an object is

GET IT ON
Google Play

128. If three resistors of 1 Ohm each
connect in parallel to each other the | ,',\

NOT correct ? (Symbols carry their resultant resistance is \ 4
usual meanings) M EC
(a) 1 Ohm % 5
(a) s=ut+%atz o2 Q 7 &
105 2x?” @ L om :
i(b) u=v-at “ ‘,//\I '
© "2_"2:2“ W + (c) 3 Ohm
(d) 9 Ohm

/(d) Distance travelled during
n second = u+ %a(ln- 1)

126. Which one of the following statements
is NOT correct ?

(a) An ammeter is always connected
in series in the circuit to measure
the current

(b) A Voltmeter is always connected
to parallel in a circuit to measure
the voltage !

,(c) A voltmeter has a high resistance
and an ammeter has a low resist-

J g ance
t/

(d) A voltmeter has a low resistance
and an ammeter has a high resist-
ance

127. Which one of the following is a
non-conventional source of energy ?

(a) Petroleum
(b) Natural Gas
«(c) Tidal energy
(d) Coal

37

129. We hear an echo due to
(a) Refraction of sound waves
+(b) Reflection of sound waves
(c) Diffraction of sound waves

(d) Resonance due to sound waves

130. At uniform speed the acceleration is
(a) Maximum 2
(b) Minimum
o(c) Zero
(d) Constant

131. An object is placed between infinity

and the pole (P) of a convex miror.
The position of the image is

(a) between pole (P) and the focus
(F), behind the mirror

(b) between the focus (F) and infinity,
behind the mirror

(c) ?etvueen the pole (P) and the
infinity, in front of the mirror

(d) at the focus (F), behind the mirror
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132. 2 3 (C) mﬁﬁSA%ﬁsB“
35 & e w241 R 1A K
F fiw R R @ ?

(@ 48V
®) 6V
© 12V

@ 008V

133. T& & Tord @ = W was R T
=T R A T AR B T R H
T fvarR % qia: (across) TE
s # 3k fR i § @At
frr wrar &1 e sk Ao
oA § IOF S H AT T
o ?

(@ 2:1
®) 4:1
() 1:2

@ 1:4
134.fmft @@ Al fage R

gfReAfer T (solenoid) & iR o
ax

(@ T

() -3 oW R A R ¥
% €, s

() - = W AR fan ¥
ad €, g d

) uﬁmﬁm%ﬁmmﬁmg

AEBC-A-GAT - C
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135. T R @ S 3 12m/s ¥ kR

45 m# g0 W P # A SR
RlaR e

(@) +1:6 m/s?

() +32m/s?

() -1:6 m/s?

(d) —0-8 m/s?

136. eaEsw W 'k feas

(Universal Constant) G T H=& (Unit)
;R ?

(@ N

(b) m/s

- (€) S (Joule) -

(d) N-m?/kg?

137. I gEE 9 o fel 1 T T

A i smar @ | ol off Ry 3, o
T (equal) BT &

(@) €T

(b) TRT

() el st
@ i st

138. Tt &fy o f smafr (), wondet

() AR FM (1) F e w2
@ f=vA

®) A=vf

© r=%

@ v=af ol

132. The work done in moving a charge of
2 coulomb (C) from point A to point B
'i824 J. What is the potential difference

between A and B ? 1“’5
(@ 48V s Qc’v&
a s
V%
® 6V ¥
© 12V
(d)' 0-08 V

133. Two conducting wires of the same /’%\‘ @ N

N/ ‘\.« (®) m/s

material and of equal lengths and equal
diameters are first connected in parallel

GET IT ON
Google Play

135. A car has an initial velocity of 12 m/s
and is brought to rest over a distance
of 45 m. The acceleration of the car is

.(a) +1-6 m/s? ‘:[//

(b) +3-2 m/s? i

(c) -1-6 m/s? M > 7 u<
2 ot

@ -08 m/s? o x 'B* %Y

\"\"‘ L2
136. The universal constant of gravitation G /&

r\“ has the unit

F- mma

.TL

andthenmsmumacucunacrossthz\s,i‘\g (c) Joule

same potential difference. The ratio of

heat produced in parallel and series
combinations is

@) 2:1 ,
(b)‘4:l
© 1:2

@ 1:4

134. The magnetic field inside a long
straight solenoid-carrying current

{ (;) is zer

(b) decreases as we move towards its
end

\(c) increases as we move towards its
end

(d) is uniform inside the solenoid

39

..(d) N-m?/kg? -

137. Two bodies of unequal masses are
dropped from a tower. At any instant,
they have equal
(a) Momentum V'

V-

= (b) Acceleration v ,‘?
(€) Potential energy mg*~
(@) Kinetic energy ,Lmv”
138. The frequency (1), wavelength (4) and

speed (v) of a sound wave are related
as

(@ f=va Qg&
®) A=yf >
(c) f=% \_é\‘:
Y- pc
ki o= 3t
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139.@1@3‘1«1&#1&3“*3:2
¥ oo @Y
T e w Ra  & | e
T 3R gt sradEE W IFI F
R

140. Fr=fifye F ¥ S-ar, Ig@ Fw@w T

A ?

() Smasit = awr R T ET @

() v wha

© fRh fi ody) W I wH
feft wagw @ el MR &
Ay & gUrle o B #

d) feht fagm @@ (isolated
system) & RV S I9W IR T
e e

141.79 IR, IW@ TR, TS TR, AR TN,
T TR R & (R oo @ @
iR
() 7 f=ht
(b) FToE
(c) smarg
@ IR

142. 57 f fom o7@ M R P
(UNESCO) 3 #raan 9t argd wiegers
gl & wfafrfy ot % s fe
27
(a) FgFA
(b) =
() w[TTET
(@) wifedr

AEBC-A-GAT - C

143, fe ¥ X wrdtg T WO (1K)
ﬁ wﬁa w ﬁih et "'J‘R‘I" T
Wi fra @ 2
() Taren s
() T FA
() T T WERY HAE
(@) weFht FTe

144. %1% (PRASHAD) A (frefamr
FAEN AR Ao e gy
i) & sifa fres frg wema
VeF & S ® ?

(a) S-S (e-Visa) Flaww
®) Wm%ﬁﬂﬁﬂﬂnfoline)

() T=at 3R w9 T &t ¥ whem
HTELEAS  (tourism  infrastruc-
ture) &t @

(d) Q@Y T W AT Y =GIET I

5. 5@ F TR fam g @
fefe = & fw  ‘aE
(ASHVINI)' 7%& 6gh 9eW § @
wfeufeora € 2
(a) wditsiTe (NPCIL) 3R

T (NTPC)

(b) ETaEt (TMC) sitc drseiet
(VECC)

(©) 11T=f3*~~=:~ﬁ(uw*3)aﬁta‘lqénv:vt’r

(BARC)

(@) SRR (IGACR) 3k
G (NTPC)

40
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139. The length of a simple pendulum is
increased four times to its previous
value while the mass is doubled. What
is the ratio of the new and previous
time period of the pendulum ?

(@) 3:1
(®) 2:5
©) 2:1
d 3:2

140. Which one of the following is NOT a
basic property of electric charge ?
(a) Charges can be added
(b) Charge is conserved
(c) Charge on a body is always an

integral multiple of an electron or
a proton charge

#+ (d) Charges can be created and
destroyed in an isolated system

141. Gaja Dwar, Ashwa Dwar, Garuda
Dwar, Makar Dwar, Shardula Dwar
and Hamsa Dwar are located in a
building at
(a) New Delhi
(b) Varanasi
(c) Aurangabad
(d) Thanjevur

142. Which dance form of India has been
inscribed into UNESCO’s Represen-
tative List of Intangible Cultural
Heritage of Humanity ?

~ (a) Kathakali
(b) Garba
(c) Bhangra
(d) Odissi

41

GET IT ON

Google Play

143. Which Ministry has initiated the
“Dhara”, a special initiative dedicated
to Indian Knowledge System (IKS) 7
(a) The Ministry of Education
(b) The Ministry of Home Affairs

(c) The Ministry of Information &
Broadcasting

(d) The Ministry of Culture

144. The scheme PRASHAD (Pilgrimage
Rejuvenation & Spiritual Hentage
Augmentation Drive) provides assist-
ance for
(a) e-Visa Facility
(b) Multilingual Tourist Infoline
() The development of tourism

infrastructures in States & Union

Territories

(d) Promoting Dekho Apna Desh
scheme

145. The Joint Venture named ‘ASHVINI'

to develop nuclear power facility in
India is between

(3 NPCIL and NTPC
(®) TMC and VECC
(€) HWB and BARC
(@) IGACR and NTPC
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146. %R Reupave) ¥ W ¥

GET IT ON
Google Play

148. TN 3rgEu @ e @181 (DRDO)

146. Which one of the following statements

T TEE 3131:[2 o 148. India’s Gas Turbine Research Estab-
P st 4 3 AR ? T TR S s oot 7 lishment (GTRE), pat of the Defence
WAt (GTRE) Th - Research and Development Organisa-
S roy ST : RDO) has developed an aero-
@ e 3w g @ Tom 21 ¥ e frafa frr @ ot e WRa @ g (a) z;ljiﬂﬂ‘w;lmhctweequod tion (DRDO) has _
. . . ture engine which will potentially make
T F EA (FAO) iR W - ‘Sﬂiﬂﬁﬁﬁ # ;T?‘M R (FAO) az:q gwmmt India self-reliance in  acro-engine
m%ma‘gmmt AT | 59 501 6 TH T ' ° fi‘ promote organic farming m@ol;gy. What is the name of the
G r engine
®) 7€ dardh (ORDO) T T .. () 1t's the name gi i
¥_ . given to the lightest
(wfiem) RN ) - DRDO (b) Yamuna
() F=m )
© e e @ W e e, @ F8 5 (¢) It's a centrally sponsored flagship © ]-:'“hm_
Wmﬂﬁﬁtmﬂm e & i’”rograme :;nthemm of (d) Kaveri
(wHir) Frlsw 149. % T ¥ Pt A omen and Child Development,
sy Government of India 149. Who among the following Presidents/
@ Te =t = A fafm & T agafoat /et # ¥ feR

FafeF I (high altitude) ®
aew frafo & qeis &

147. ‘€i-=7e (C-Bot)’ % IR & Fmfofe &

SRAET AN w0 gyl wwE
G, At dR AT AR W
aM wgW, @ affEw R wwnfvE
fore A sgrr [ & fog e wify

(d) It’s an indigenously developed
road construction technology at
high altitudes

Vice Presidents of the United States of
America was awarded Nobel Peace
Prize for work to find peaceful
solutions to international conflicts, to
advance democracy and human rights,

and ic and soctal
R ¥ Tt w2 . Which of the following statements dcvelm PP::t!gtc cronome .
/A F-1/FH-¥ o ' /T ? v about ‘C-Bot” is/are correct ? L8
(a) Tomt e ; ) (a) Jimmy Carter
l.q'EmﬁIﬁlﬁ(coralrecfs)Tﬂ ggi‘rﬁ'iqa o e s oS
< s erwater vehic Woodrow Wilso
A % forg et 35wy ® monitor coral reefs - .y "
T AT ® (c) =& =T (¢) Barack Obama
2.9 dwadR (CSR) Wk @ ¥R 2 :tn ::1 Obeen developed by CSIR @ Al Gore
AT (NIO) T e for 150, Frerfife F ¥ - o : ) 150. Which among the following agencies
TR ) £, 3rare : Pt R & Select the answer using the code given releases report on ‘S.AFE. Accom-
3 Ry 0 3z 7 v R T - ;::;; ’ - ‘&Hfhi o ‘below : modation : Worker Housing for Manu-
. s g w facturing Growth® 2
@ ¥ ol § ? (@ 1 only @ REI
(b) Fad 2 ® e ' (RBI) (b) 2 only (b) NITI Aayog
(b) T (NITI) 3Tarr R lati ; .
© 13 23 i il e  (© Both1and?2 9 Waticual Housing Bank
c AT ]

(d Ad 1,782

AEBC-A-GAT - C
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(@) TR GE sl awaiie SRy

(d) Neither 1 nor 2

(d) Housing and Urban Dev elopment
Corporation
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